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fEn 51 189 4, 587 2,493 0 0 0 2 670 688 0 0 0 70 41 2,226 17 1, 960 0 0 1,016
N4 78 79 277 278 0 0 0 78 278 278 0 0 0 193 153 278 78 278 0 0 278
IR TR IE 6 8 14 13 0 0 0 0 10 10 0 0 0 7 7 13 0 13 0 0 13
() HEBE 0 0 0 0 0 0 0 0 4,479 3,986 0 0 0 0 0 4,805 0 0 0 0 0
1 =3 2 3 23 3 15 3 0 0 0 0 25 %3 23 %3 0 0 0 2 %3 2 %3 31 3 1 #3 13 %3 0 0 8 3
B pkE 137 *3 277 %3 4,901 *3 2,799 *3 0 0 0 80 5,462 *3 4,985 3 0 0 0 273 %3 203 %3 7,353 *3 96 3 2,264 *3 0 0 1,316 *3
519 1,074 7,651 *1,2 6,035 *1 0 0 0 199 2,179 *1 2,264 *1 0 0 0 593 516 4,521 *1 395 5,258 *1 0 0 3,599 1,2
B 98 99 348 1,2 349 x1 0 0 0 98 182 *1 205 I 0 0 0 243 191 150 *1 98 349 1 0 0 349 1,2
) 15 18 32 31 0 0 0 0 22 22 0 0 0 17 16 31 0 31 0 0 31
0 0 0 0 0 0 0 0 1,934 =l 2,070 *1 0 0 0 0 0 1,365 =l 0 0 0 0 0
632 1,191 8,032 *L2 6,415 *1 0 0 0 297 4,318 *1 4,561 *1 0 0 0 853 724 6,058 *1 494 5,638 *1 0 0 3,979 L2
Yl 0 1 1 # 66 1 33 1 0 0 0 0 1 7 1 7 1 0 0 0 1 *1 0 1 30 1 0 1 25 1 0 0 11 1
b E 1 %1 1 %1 1 %1 1 %1 0 0 0 0 1 %1 1 %1 0 0 0 1 %1 1 %1 1 %1 0 =l 1 %1 0 0 1 =l
eI HEBE 0 0 0 0 0 0 0 0 1,508 xI 1,472 =1 0 0 0 0 0 1,723 = 0 0 0 0 0
(N) [} D 0 #3 0 #3 1 #3 1 #3 0 0 0 0 *2 1 #3 1 *3 0 0 0 0 3 0 3 1 *3 0 3 1 #3 0 0 0 3
7oy 7 0 =3 0 =3 2 %3 2 *3 0 0 0 0 *3 1 =3 1 =3 0 0 0 0 *3 0 #3 2 #3 0 *3 2 #3 0 0 1 3
i 1 *3 2 %3 67 *1 35 *1 0 0 0 0 =3 1,515 *1 1,480 *1 0 0 0 1 *3 1 3 1, 755 *1 0 =3 26 1 0 0 12 *1
EYlEE 101 1 222 *1 2,180 #1 1,523 1 0 0 0 35 x1 505 *1 523 x1 0 0 0 117 =1 98 1 1,200 =1 72 *1 1,289 1 0 0 823 x1
b E 1 %1 1 %1 2 1 2 %l 0 0 0 0 1 %1 1 %1 0 0 0 1 %1 1 %l 2 xl 0 =l 2 xl 0 0 2 1
AGHE HEBE 0 0 0 0 0 0 0 0 15, 108 *1 14,412 *1 0 0 0 0 0 15,722 1 0 0 0 0 0
(N) HRK I 0 #3 1 #3 6 _*3 4 #3 0 0 0 0 *2 6 *3 6 *3 0 0 0 1 1 =3 8 3 0 *3 3 % 0 0 2 3
7oy 7 7 %3 13 =3 69 *3 72 3 0 0 0 3 %3 38 3 38 3 0 0 0 12 #3 11 #3 68 *3 8 3 63 #3 0 0 47 #3
it 101 1 223 1 2,182 *1 1,525 #1 0 0 0 35 %3 15,614 *1 14,936 *1 0 0 0 118« 99 3 16,924 1 73 %3 1,290 *1 0 0 824 I
Yl 5 1 19 1 461 *1 250 1 0 0 0 0 1 67 *1 68 1 0 0 0 7 1 4 1 223 *1 2 1 196 x1 0 0 101 =1
PNIDE: &= b EE 0 # 0 # 1 %1 1 %1 0 0 0 0 1 %1 1 %1 0 0 0 0 =l 0 =l 1 %1 0 =l 1 %1 0 0 1 =l
HEIEHER H 0 0 0 0 0 0 0 0 5,148 *1 4,911 %1 0 0 0 0 0 5,368 *1 0 0 0 0 0
ON) RS 0 % 0 = 2 % 1 *3 0 0 0 0 =2 2 = 2 = 0 0 0 0 = 0 = 2 = 0 = 1 %3 0 0 1 %3
7oy 7 3 3 5 3 27 *3 28 3 0 0 0 1 #3 15 #3 15 #3 0 0 0 5 %3 4 %3 26 #3 3 %3 25 #3 0 0 18 =3
&t 8 *3 23 3 461 1 251 1 0 0 0 2 3 5,215 *1 4,980 *1 0 0 0 12 %3 8 *3 5,592 *1 5 3 197 =1 0 0 109 3
VLR 95 #1 204 *1 1,719 #1 1,273 *1 0 0 0 35 x1 438 *1 455 *1 0 0 0 110 *1 94 *1 977 *1 71 *1 1,093 1 0 0 721 1
b gE 0 #l 0 #l 1 %1 1 %1 0 0 0 0 1 %l 1 %1 0 0 0 0 =l 0 =l 1 %l 0 =l 1 %1 0 0 1 =l
BAGHE S 0 0 0 0 0 0 0 0 9,961 1 9,501 *1 0 0 0 0 0 10,353 1 0 0 0 0 0
ON) HEE S 0 = 1 *3 1w 3w 0 0 0 0 =2 4= 4= 0 0 0 1 *3 1 %3 5 % 0 = 2 = 0 0 2 %
7oy 7 4 %3 8 #3 42 3 44 3 0 0 0 2 #3 23 #3 23 #3 0 0 0 8 3 T *3 41 #3 5 %3 39 #3 0 0 29 #3
Gt 96 *1 204 #1 1,720 #1 1,274 #1 0 0 0 35 *1 10,399 *I 9,956 *1 0 0 0 110 =1 94 *1 11,331 1 71 1 1,093 =l 0 0 722 *1
E Ve Sy 17 *1 62 *1 1,530 *1 830 *1 0 0 0 1 #1 219 *1 224 *1 0 0 0 23 *1 14 *1 730 #1 5 *1 652 *1 0 0 336 *1
N HEBE 0 0 0 0 0 0 0 0 764 *1 701 *1 0 0 0 0 0 803 *1 0 0 0 0 0
HBICPE S EHRFR (N 0 0 0 0 0 0 0 0 16,616 x 15,884 =l 0 0 0 0 0 17,445 *1 0 0 0 0 0
% 0 116 40, 987 46, 296 0 0 0 0 116, 960 116, 964 0 0 0 116 116 117, 184 0 35, 609 0 0 14, 520
Lok Wik AND 1H 0 116 37,843 42, 890 0 0 0 0 116, 741 116,743 0 0 0 116 116 116, 952 0 32, 805 0 0 12, 882
. (N) LI 1% 0 0 22, 240 25, 639 0 0 0 0 115,753 115,744 0 0 0 0 0 115, 889 0 18, 781 0 0 5, 386
1y Atk 0 0 2, 096 2, 453 0 0 0 0 73,223 72, 639 0 0 0 0 0 73, 617 0 1, 630 0 0 0
[EA 14, 672 17, 781 26, 878 23, 787 0 0 0 11, 959 46, 345 46, 108 0 0 0 17, 600 17,017 48, 061 12,411 23, 576 0 0 23, 358
T XpEAT 1IHR 12, 357 15, 043 22,632 20, 080 0 0 0 10,074 40, 251 39, 887 0 0 0 14, 842 14, 304 41, 740 10, 476 19,878 0 0 19,744
(N) LI % 4,500 5, 440 8,193 7,253 0 0 0 3, 626 19, 158 18, 509 0 0 0 5,373 5,171 20, 005 3,828 7,186 0 0 7,119
1y Atk 134 134 201 201 0 0 0 134 7,473 6, 665 0 0 0 134 134 8, 069 134 201 0 0 201
[EA 0 398 20,089 *3 14,837 2,3 0 0 0 0 20, 577 3 19,107 3 0 0 0 0 0 29, 163 3 0 12,687 2,3 0 0 8,725 *3
TATTA ey 1H% 0 0 1,501 1,099 0 0 0 0 10, 126 9, 060 0 0 0 0 0 11,378 0 926 0 0 676
eE = L[ #% 0 0 0 0 0 0 0 0 9,279 8, 277 0 0 0 0 0 9,941 0 0 0 0 0
1y Atk 0 0 0 0 0 0 0 0 9,270 8, 268 0 0 0 0 0 9,929 0 0 0 0 0
B3 0 154 7,633 5, 542 0 0 0 0 9,819 9,032 0 0 0 0 0 12, 957 0 4,747 0 0 3, 237
i AEERHE 1 H % 0 123 7,049 5,106 0 0 0 0 9,285 8, 547 0 0 0 0 0 12, 209 0 4, 344 0 0 2,988
([E1%3) L[ 0 31 1,046 747 0 0 0 0 4,277 3, 863 0 0 0 0 0 4,923 0 651 0 0 436
1y Atk 0 0 523 374 0 0 0 0 3, 855 3,435 0 0 0 0 0 4, 286 0 311 0 0 218
% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
it A 2 XhEF% 104 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(F) L[ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1y Ak 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
W Lé% P(“’Fﬁ)m 26 36 57 56 0 0 0 17 59 59 0 0 0 34 32 71 19 56 0 0 56
i Lé%bmi;% (& ) 1 1 9 8 1 1 1 1 8 8 1 1 1 5 4 8 1 8 1 1 8
Y - () 1 i 16 21 0 0 0 0 19 21 0 0 0 1 0 30 0 18 0 0 13
s (65 T) 0 0 5 11 0 0 0 0 13 14 0 0 0 0 0 18 0 9 0 0 7
g () 13H 0 0 0 2,356 *3 0 0 0 0 95, 356 3 65,219 =3 0 0 0 0 0 111,211 *3 0 0 0 0 0
4~TH 975 *3 2,461 *3 35,755 3 66, 179 *2,3 0 0 0 0 279,170 *3 | 272,289 =3 0 0 0 5,450 *3 968 *3 | 299,669 3 1,185 35,364 *3 0 0 10,344 %3
AETERERE SR (AR i okhk (1) [L3H 0 0 180, 390 247, 509 0 0 0 0 699, 314 678, 282 0 0 0 0 0 709, 927 0 180, 992 0 0 66, 551
T A~TH 0 1, 800 340, 939 390, 333 0 0 0 0 HEHREAEH HEHREAEH 0 0 0 1,679 817 HEHHREARE 0 290, 913 0 0 93, 468
EAi (B0 0 0 8,166 _*3 5,176« 0 0 0 0 32,568 3 31,304 3 0 0 0 0 0 36,124 *3 0 4,174 0 0 2,333 3
[ S LB A i 2 39 22 7~ 0 0 0 1 42 3 38 3 0 0 0 2 2 57 3 1 18 - 0 0 11 3
REpERp@E (00 HEBHEREY) A 0 0 0 0 0 0 0 0 121 119 0 0 0 0 0 125 0 0 0 0 0
— 1H% 222 429 4,707 *3 3,092 2,3 0 0 0 114 16,789 3 16, 178 3 0 0 0 351 281 18,562 *3 166 2,600 2,3 0 0 1,667 =3
00 1@?&1& 185 358 6,546 *3 5,670 2,3 0 0 0 95 21,243 =3 20, 860 3 0 0 0 293 234 22,415 =3 139 4,453 *2,3 0 0 2,052 *3
B 1y Atk 111 215 2,888 3 2,186 *2,3 0 0 0 57 20,869 3 20, 668 *3 0 0 0 176 141 21,295 *3 83 1,729 #2,3 0 0 833 3
: — 1H% 148 286 3,138 3 2,062 2,3 0 0 0 76 8,558 *3 8,259 *3 0 0 0 234 187 9,652 *3 111 1,734 #2,3 0 0 1,111 =3
OO L % 185 358 6,546 *3 5,670 *2,3 0 0 0 95 13,274 *3 13,365 *3 0 0 0 293 234 14,013 *3 139 4,453 2,3 0 0 2,052 *3
Ly Atk 259 501 6,738 *3 5,101 *2,3 0 0 0 133 48,694 *3 48,224 3 0 0 0 410 328 49, 687 3 194 4,035 2,3 0 0 1,944 =3
1H#% 48 93 1,025 #3 674 2,3 0 0 0 25 3,658 *3 3,524 *3 0 0 0 77 61 4,044 *3 36 567 2,3 0 0 363 3
SEREREFE (N A% 40 78 1,426 *3 1,235 #2,3 0 0 0 21 4,628 *3 4,545 *3 0 0 0 64 51 4,883 3 30 970 2,3 0 0 447 %3
1y Atk 24 47 629 3 476 %2,3 0 0 0 12 4,546 *3 4,503 3 0 0 0 38 31 4,639 *3 18 377 %23 0 0 182 *3
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